DVVE '

, 8 1 74 l

64 g3 62

—38
-—50

22| ﬂﬂﬂﬂ

LEZYNA

T d3AN DO I ONV TIWAS



Parts List for DWE4237 SMALL ANGLE GRINDER 1

Item Part Number Qty Part Description General Description Other Info  Repair Inst Markets
1 N413331 1 GEARCASE SA No

2 N442428 1 ARMATURE 230V No QS
3 N423537 1 PINION 38T-10T LONG No

4 N372039 1 NUT M7 No

5 N421526 1 GEARCASE SA M14 No QS
7 N413349 2 BRUSHBOX SA No

8 N442427 1 BRUSH PAIR 230V No QS
10 N404377 1 SWITCH No

11 N298583 1 LINKAGE SA No

12 N093410 1 SPRING No

13 N097844 1 BUTTON No

14 N387328 1 CORDSET (EURO) QS No QS
15 330005-01 1 CORD PROTECTOR No QS
16  619328-00 1 CORD CLAMP No QS
17 330065-06 1 SCREW M4 X 12 T20 No

18  N419604 1 HOUSING SA No QS
19  N401579 1 DUST PORT No QS
20 N400902 1 END CAP No QS
21 N371839 4 SCREW M4 X 22 T20 No

22 330045-06 5 SCREW No

23 N297219 1 SCREW M4 No QS
24 NI136731 1 LEVER No QS
25  N291619 1 SPRING No QS
26  N389438 3 SCREW M4 X 40 X T20 No

27 330065-09 1 SCREW M4 x 25 No

28 593478-00 4 SCREW M3 X8 No

30  N408538 1 LEAD SA No QS
31 634599-00 1 TERMINAL No

32 N301299 1 CONTROL MODULE SA 230V No QS
35  631028-00 1 LEAD SA No QS
36  391969-00 1 INNER FLANGE No

37 N419748 1 OUTER FLANGE M14 No

38 N355619 1 O RING 1.5X 34 No

Page 1



Item Part Number

39 N308279
40  N403730
41  N433259
50  N420261
62  N399419

63  949638-02

64 N421413
65  N390640
71 NI107295
72 N382311

85  444793-00
86  N409481
87 N163702
88  605040-24

89  N400478
90  N389985
91  N307625
92  N269901

95  641823-00

96 NI130916
97  N324400
99  N273780

101 N401958
102 N398877
103 N175104
104 NI119639
105 N278899
106 N263579
107 N263679
108 N263699
800 583534-00

Parts List for DWE4237 SMALL ANGLE GRINDER 1

Qty Part Description

1
1
1

GUARD
BRAND LABEL
RATING PLATE
O RING
BAFFLE FAN
DAMPER
FIELD 230V
FIELDCASE
HEX KEY 6 MM
SIDE HANDLE
CIRCLIP

GEAR

SPINDLE
BEARING
WASHER

RING

O RING

GEARCASE COVER

SLEEVE
BEARING
WASHER
SPRING
DEFLECTOR
CIRCLIP
BEARING

O RING
BUTTON
SPRING
SPINDLE LOCK
O RING
GREASE 50 GMS

General Description

125MM

QS

230V

38T/10T
M14
6001

1.5X 40

25MM INTERNAL

5SMM OD
Rheolube 380G1

Page 2

Other Info

Repair Inst

Markets
QS

QS

QS
QS

QS

QS



